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Written Test - First Round (1@ QO &IT - gfgett thil)

Date : 7-10-2018

Time : 1 hour Std. VIII & IX Maximum Marks : 50
¥% : 1 O waxor 7ot : 50
Instructions - 1)  Each question carries 2 Marks.

2)  Answers should be written with Pen.

3) Cancelled and overwritten answer will not be considered.

4)  Answer should be written in box provided in front of each question.

5)  Write the proper unit of measurement, where necessary.

=T : 1) us=h gyaTET 2 IuT AT,
2) St ymed feereie.
3) wErsedEt T firaadt 3w faure gast SNt Argie.
4) wes HyAge feoiear wiendta St fegret.
5) SATavgss 9T 99 9199 Usheh foETd.

Name of the Student: 1)
faareater e : 2)
(In Block Letters)

Name of the School :

IS A :
Code No. of the Group : Mobile No. :
TMETET Highfaeh ShHleh WHOTES AT ShHieh :

1. Find the sum of all the numbers in the series :

S T B R i e ) | 0

a2 Hia +% )2 = 8, Find the value of (a° - —& )
d

1 ;

=T (a +% }2= Bm'(ag =3 ) =i fahae =xter.

3. The lengths of four sides AB, BC, CD and DA of a parallelogram
ABCD are (3x + 2), (4y + 5), (5x - 12) and (7y - 4) respectively.

Find the numerical value of the perimeter of that parallelogram.

JHIATYST =tehiT ABCD Weir AB, BC, CD 3A1fur DA =T =T |TS{=ar etiat

TR (3x + 2), (4y + 5), (5x - 12) 3T (7y - 4) AT ATed.

4. Amit and Rohan together have Rs. 2050. Amit gives Rohan an
amount equal to the amount in Rohan's possession.
Then Rohan gives Amit an amount Amit now possesses.
After this Amit has Rs. 662 more than Rohan. Find the amount with Amit initially. (PT.0)




8.

10.

grfae enfor e ar Saisae e 2050 a0 TR, T9H UgT9as Aaat (SFehd T8
ATET THFR T S VST AT SATHOT 6T s o Aae! (@ f¥eeras Tga ager (aahy
e Sifaaer adar. arvaT o9 feua =t siftaesre Qs asier (EhAQaT 662 $9 SR
Ted. < STfaaehe OrHT fehdT Ta=hWT gidl F <hial.

A ABC is an equilateral triangle of side 8 cm. Point Q is at a distance of 5cm. from each of
the points B and C. What is the maximum distance between A and Q ? v 3=173)

A ABC BT 9ag< FraniuT 219 «ar=t | 8 9dt. 31e.
fag Q =rfag B snfor fag C rgs w=nt 5 QT e raT TR,
ax faig A snfur feg Q givsiier s s efax fandt e/ @« 2 (V3 = 1.73)

If one factor of (2x + y)3'- (X +3y}3 is (x - 2y), Find the other factor.

I (2x + y)° - (x + 3y)° AT AEUEHT (x - 2y) BT U IEIT IR,
WA FFIT w@T. 7

e In the figure, Ray QT is the bisector of ZPQR

ray RT is the bisector of ZPRS
'If mZQTR = 20°, Find mZQPR

=TT sreRda faRtoT QT 81 LPQR =T gHISTS: 311R,
& <uT RT 8T LPRS =T g AR,
=T mZLQTR = 20° 9T mZQPR =TaT.

Q R S

Which number should be subtracted from 150 so that
when the new number is divided by 5 or 11, -
it leaves remainder 1, but when divided by 3, the remainder is zero.

29T H3=aT vir"r sat AT 150 I S6qF ST sheil 94T JUTRT
T 9T vt e st faer s I fahar 11 3 9 31|ar 1 aGraat s,
gig faaT 3 7 9TTe 19ar I §rah T S

If a=4andb = -2, Find the value of
ST a=4 fUTb = -2 T Gater A=l [ehad shiel.

a® - p°
2

a (a2 - b?) (a+b+§ )

Two stations, P and Q are 300km. apart. A bus starts from P towards Q at 8 a.m.
and a car starts from the station P towards Q at 9 a.m. The ratio of the speeds of the bus and
the caris 2 : 3. The car reaches the station Q one hour earlier than the bus.
Find the speed of the car. (km./hr.)

P rrfor Q 4T I TR tHEer 3faT 300 fantdt. ane.
P &I THhTIIH Ueh 6 Q TT=eht=4T {9 Wahtast 8 arwrar fAaret.

Ush HIZTOTTET Y5t P TSR I Q eht=AT o warw faayiht aaniat 9 arsrar fraret.
Y SATIOT HIETCMST AT Q= YOI 2 : 3 . ST  IETOmEr Q 91 TAHhId a9uall Ush
AT STET QR 3T8er a¢ WeErans=T a1 whrer. (e /am )




11. If V4-x + VYx+9 = 5, then find the value of x if x # 0.
AT \[4-x +x+9 = SaxrfSFAaa 1T, (x#0)

12 A In the figure, m£ZBAC = 117°.
AD = BD and AE = CE.
Find mZDAE.
B | m c  Taorear seRda m«4BAC = 117°

D E_ AD = BD attfut AE = CE a€ mZDAE =h1eT.

13. Find the ratio of the compound interest to simple interest for a
certain principal at the rate 8% p.a. for two years.

T WI.E.9Y. 8 U UahT TehAaT 5 gui=ar geaiae! fasom

TehATE STTST ATIUT W{ss ST Fi< U ShiaT.

14. Which of the following is the smallest number ?

QEleiden! WaTd SIgT W&AT ShiuTal ?

5150 50 3100 £75

15. In A ABC, mZB = 90°, mZC = 60° An arc BXD is drawn

with C as the centre. Find the area of the shaded region

if BC = 6cm. (V3 =173, Tt = 3.14)

A ABC I&r m~ZB = 90°, m~ZC = 60°

fig C &z 97 adaad BXD whTee ATe.
N o T BC = 6 AWT AW a¥ I@Tehd AR HAGS hial.
3 =173 T =3.14)

16. A table is sold at 10% profit. If the cost price is Rs. 40 less and selling price is Rs. 12 more,
the profit percent will be doubled.

What is the original cost price of the table ?

Tah 28T 10% 6T U5+ fasher. S &1 Saardt @igt
fahraa 40 Ta=i=it sheit STt enfuT fasnt fehaa 12 o S S|l a7
PIH ST T&HT TS AT SHAT. 9 T SaATel ges=t @ar fehaa fardr gt ?

_17. - Factorize : 3999 qr=T.
X% - 2x - 44099

18. The surface areas of three faces of a cuboid are in the ratio 12:20: 15:
The valume of the cuboid is 480cm3.
Find total surface area of the cuboid.

UahT STEaRTIaa=ar di= YeaT=ar Sthes=r Jun=T 12: 20 : 15 8.

=T SfeeThads Tawes 480 YW MR, AT T SEahITad=l UeRUT Y8 HiaT. (P.T.0.)
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20.

21.

22.

£,

24.

29,

Three numbers A, B and C are such that average of A and B is 25.
If B is replaced by C, the average becomes 30 and

if A is replaced by C, the average becomes 20. Find C

A, B 2ttfur C It |t §&AT 9T aa aht A ATfoT B It |aadr 25 e,
T B =1 AR C 87 9&—>T 99at 9¢ 9 9aar 30 ga syrfur
T A ==1 AT C 81 9 &—>T Oaet 9€ |9aad 20 8. 97 C =i fehae =mT1er.

Two years from now Arya will be one-half of her sister’s age then
and two years ago she was one-fourth the age of her sister’s age
then. How old is Arya now ?

I Sui-aT arare a9 fa=ar afgvir=ar aassar aar=ar 2.
I SNigat fad a9 afgui=ar Aas<ar a9r=ar % i, °T AT At a9 fendr a2

If a number is divided by 6, the quotient is x and the remainder is 2.
When x is divided by 6, the quotient is y and the reminder is 5.

When y is divided by 6, the quotient is z and there is no remainder.
If x + y + z = 48, find the original number. :

TWehT GEIET 6 9 9T STHAT WHMERTT X Jar SATOT @Rt 2 STd. X &7 6 ¥ 9ETH S79dr
WRTTSRTT y Al ST ATERT 5 ITA. y &1 6 T WATS AT WAL Z JaT SATOT areht 99 ST,
TATX + Y + Z = 48 WA °T YST ST Shial.

If \/ 0.004 x P x 0.4 0.4 x 0.04 x\q
p

then find the value of g in decimal fraction.

=w\/0.004 xPx04 = 04 x 004 x Vg o
T % =it fehma ToTieT SAQUTishTa ShiaT.
A team of workers decided to make certain number of toys in 15 days. When the speed was
increased by 40%, they found that in 12 days they made 120 toys more than the number of
toys they had decided to make. How many toys did they make in 12 days ?

HREAT TahRT T2 15 feagia e @auit aafarary stae. ST =i @S uil a3guarer
AT 40% ST ATE ST, dRT AN AeSe et 12 feaaia=a wi-i afgeamar 120 @it s
T, a A=t 12 fgaaia gghpor faadt @it s=saet 2

A={x/xisaprime number < 11}
B={x/xisan odd number<11} Write n (A N B)

A={x/x T gas 9&AT, x < 11}
B={x/x &rfaeawd@=mr, x<11) < n (A N B) feEr.

In the adjoining figure, seg PQ is the diameter

P of the circle. seg PS = seg SR, mZPQR = 56°.
\ Find mZQPS.
S
HIS[SAT TR & PQ BT SgaT=T sH AR
T@F PS= ISR, mZPQR = 56°.
R
e d T MZLQPS.

s a2
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